Dear Year 5 and 6,

W Thank you again for your continued hard work and thank you to those who have sent work

W in, [ have absolutely loved reading through it all. T.am thrilled with how hard you are dll
working. [ am missing you all very much but hope you've all been enjoying your time at
home.

This work pack is for the next three weeks and is stil mainly focused around our end of

year cultural topic "Austrdlia’l

Remember to go on IDL and mathletics as much as possible and try to read everyday.

- Here are some other ideas of activities you might also like to try out:

e Joe Wicks is streaming live PE sessions Monday to Friday on his YOUTURE

channel.
e Try https://family.gonoodle.com/ to keep active

® Why not have a go af scratch and do some creative computer programming:
http://scratch.mit.edu/explore/pro jects/games/

o @et out info the garden and become a nature detective and get some ideas at
https://naturedetectives.woodlandtrust.org.uk/naturedetectives/

®  https://www.bbe.co.uk/bitesize/levels/ has some amazing resources which might

help!
e Cosmic kids for yoga and stretching activities

® Search peace out’ for stories to help you sleep.

Please contact me at any point by email or by phone as [ am always here to help. Enjoy
and stay safel

N2
IS x *
AT Mrs Stocks

rachael.stocks @swarland.northumberland.sch.uk

twinkl.co.uk

SN -
AR * *
-

PASSPORT

Y




1 am really pleased your zoom Call with EVie was a success anhd Tve
heard from Charlotte how much you have learhed. Thanhk you very
much to Mrs Garland for arranging this!

Please make sure you haVve also had a |00k on the Duchess website:

https://sites.google.com/dChs-alnwiCKk.uk/transition/home

Remember to complete your treasure chest and your peh portrait
ahd email them in — this will really help your new teachers get to Khow
you!

I| If you have anhy more questions please email me with them and T Can
forward them on to The Duchess, where they will continue to upload
answers on to their website.

1 am hoping to see you all before the summer holidays, whether this
will be Virtually or in persoh. Please remember that you Cah piCk up
the phone to Call me or send me anh email if You want to chat. ] khow
you will all be feeling different emotions about your hew school. If
you are feeling hervous about moving to your hew School, please
remember this is perfectly normal. Why not Create your own worry
monster or worry box, where you Cah post ahy worries. Remember
talking helps (could be a parent, Sibling or a school friend).

In the mean time, please Cah you email with your favourite memories
Of your time at Swarlanhd, as mahy as you like! This will help me collate
a Celebration of Year 6's time at Swarland!

Thank you,

Mrs Stocks
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Cross curricular topic based on Australia
Activity 1:

Captain James CO9S

o Captain James Cook first discovered Australia inh April 1770. (Jse
the internet to find out about who Captain Cook was ahd the
voyage that led him to discover Australia. You might like to find
out: What his ship was called, where did he land? Who did he
have with him? What did he find there? (Jse a publishing paCckage
such as Word or Publisher to record the key points that you
find. You might also like to import some images from Google.

e Draw a labelled diagram of Captain CooKk’s ship, write around it
what life was like on board. Could you make a mode| out of
cardboard? WWhy hot adapt it tO make it your won but with an
18" Century feel?

e Mahy Of the first people who were brought to live in Australia were
convicts! Find out what life was like for them onh board the ship.
Make a list Of the positive ahd hegatives points of being sent to
Australia from the (Jk.

o Write a diary entry from the point of View of a convict. How are ||
you treated? How do you spend your days? What food do you
eat? How are you feeling about the hew life ahead of you?

o«When Captain Cook and his men discovered Australia, there were
already people |iving there. Who were they? How do you think
they felt about the arrival of these strahge new people?




SIZ «Watch Aboriginal dance and music oh YouTube.
https://www.youtube.com/watCh?v=0OhyKSENn6_SO

e Traditional Aborigihal Food. Aporigines traditionally ate
Ffoods that may surprise you ( ahd make your stomach Sz
turn!) Write a menu For an Aboriginal meal!

o Aboriginal art Symbols. Aborigines used paintings,
drawings anhd Ssymbols oh roCks anhd Caves to tell
others where food and water could be found and what
animals were in the area. Have a g0 at Creating some of
these symbols and pictures yourself. If you Cah, send a
piCture to me to see if T Cah unloCk your code! i,

o Aborigines used plants ahd some Creatures from the bush
to Create mediCipe. Find out what they used to treat: 8
cold, burns, headaches, sores and wounds and teething [
babies!

o Some Aboriginal tribes built shelters out of stiCks and
YOoCKS, have a go yourself!
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ACtivity 3:

~4boriging| storie®

« Storytelling is very important in Aboriginal culture! Listen
t0 some traditional Aboriginal stories on You Tube. Try
searching for: The Koala with the stumpy tail, The
Rainbow Gerpent, Tiddalick the frog, How the
Kahgaroo got it’s tail or, How the turtle got it’s shell.
What do all of the stories have in Common?

e Try tO Write your own Aborigingl story— For Example: How
the Kahgaroo [earnht to jup, or Why the  spider has
eight |egs or perhaps, why the shake slithers.

e Ohe Of the ways that Aborigines tell stories is through
the use of ‘Dream Stones’ and the stories told are
Called ‘Dreaming Gtories’ These stories are told by
drawing Symbols and pictures onto roCks and then [
using these as prompts to tell the story. Choosing one {5 ¢
Of the stories you have watched onh YouTube, Collect
some flat stonhes and make your own dreatn Stones to
tell one of the stories you have watched.
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ACtivity ¢:

e Traditional Aboriginal art consists of: body art,

e TrY reCreating some of the Aboriginal art you have

77‘aditi Ohal Aporiginal Art

yOCK engraVving, dot painting, symbpols in the sand
ahd rock painting. [Look onh (z0ogle images for
some examples and fill ih @ Comparison Chart sz
looking at the materials ahd colours used and [N
the purpose Of each Of the examples Of art.

seen (send us pictures please!)

e [Listen to the Digeridoo and traditional Australiah

" . N LZ
songs on You Tube (e.g Waltzing Matilda,
Kookaburra etC.) [earh one Of the songs. .
https://www.youtupe.com/watCh?v=ISVN(JV5X37
0]

e Mlake your own Digeridoo usihg Cardboard tubes, "
decorate it with Aboriginal art!

Finally. . .if the weather is nhice enjoy an ’Australian’

L .
barbecue in the garden!




Year 6

Grammar

WB 22.6.20 layout devices pg 41
WB 29.6.20 revision 3
WB 6.7.20 writing task 3 and final fest

Speling

WB 22.6.20 plurdl nouns: If a noun ends in a consonant + o we of'ten add es to

make it plural (potatoes, echoes, heroes)

WB 29.6.20 homophones and words offen confused (advice and advise, practise
and practice, licence and lisense, device and devise)

WB 6.7.20 words containing the letter string ough (thoroughly, borough, dlthough)
Please see activity suggestions in guidance handed out in the first week.

3 -_';j Maths

Please continue using the mental maths booklet which was included in your last work
pack.

WB 22.6.20 line graphs and circles

Can you create your own data for aline graph?

https://www.bbe.co.uk/teach/class-clips - video/ maths-ks2 -understanding-radius-
and-diameter/zmgkgp3

WB 29.6.20 pie charts and calculating the mean

Can you create your own pie chart, using your own data collected?

* .
WB 6.7.20 measuring with a protractor and finding angles in shapes




Read and Interpret Line Graphs

Read and Interpret Line Graphs

1a. Which of the following could you
show on a line graph?

A. How much snow falls over 24 hours.

B. Your favourite pizza foppings.

¢

VF

1b. Which of the following could you
show on a line graph?

A. A count of how many push-ups you
can do every day for a month.

B. How many different animals are at the
Z0O.

¢
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2a. True or false?

The graph shows that it rained from 9am
to 9pm in Swansea.

Daily Rainfall

10
*=Swansea

Millimetres
o [ ] = o~ (o]

9am 1lam 1pm 3pm Spm 7pm 9pm

Time
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2b. True or false?

The bean plant didn't grow higher than
4cm.

Height of Bean Plant

10
—a=Jaicld's Plant

o

Height in cm
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Day1 Day2 Day 3 Day4 Day5 Dayé Day 7
Day
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3a. According to the graph, which
statements are correct?

A. The stand was busiest from 11am-
12pm.

B. The stand sells ice cream.

Lemonade Stand Sales
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—e—Saturday

Money eamntin £
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o © ©
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Time
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3b. According to the graph, which
statements are correct?

A. The roller coaster is called The Drop.
B. The Twister is stationary for the first two
minutes.

Roller Coaster Speed

100 .

E - . =o=The Twister
o 60
-
7 40
E
6 20
< e
0 e T
0 1 2 3 4 5 3 7
Minute

VF
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

4a. Which of the following could you
show on a line graph?

A. The titles of all the books read over a
summer holiday.

B. How far two people can run in 2 hours.

C. How the price of milk and butter has
changed over 20 years.

4b. Which of the following could you
show on a line graph?

A. Your height measured on the same
day every month for a year.

B. Water level of two rivers over a month.

C. The number of flowers growing in your
garden.

A
‘l_j‘_m( VF

5a. True or false?

Kevin won the bicycle race.

100km Bicycle Race

100
» 80 /
T 40 -
5 10 -
“ - Kevin
20 / o Amir

0
9am 10am 1lam 12pm 1pm 2pm 3pm
Time
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5b. True or false?

Donna had the heating on in her kitchen
on Sunday morning.

Temperature in Donna's Kitchen
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4a. According to the graph, which
statements are correct?

A. Both cities had one day with no rain.
B. Friday was the rainiest day in both
cities.

éb. According to the graph, which
statements are correct?

A. Bonnie's bean plant was 4cm taller
than Jack’'s on Day 7.

B. Jack’s bean plant grew 1cm between
Day 5 and Day 7.

Daily Rainfall Height of Bean Plants
w gg ——Llondon /h\\ 10
& gg Edinburgh *f \\ £ g T P
E 15 : s Bonnie's Plant
Z 10 — / i = 6
g ~7 X B 4
o
L ¥ ¥ FHF L LS 2
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o A @b{\ &8 < k) 0
& . Day1 Day2 Day3 Day4 Day5 Dayé Day?7
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ﬁ VF ‘ﬁ? Day VE
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

7a. Complete the table by giving an
example of data that can be represented
by each of the graphs or charts below.

7b. Complete the table by giving an
example of data that can be represented
by each of the graphs or charts below.

Line Line
Graph Graph
Bar Tally
Chart Chart

GDy VE

GD, VE

8a. True or false?

Both friends finished the half marathon
(21km) by 1:30pm.

Half Marathon
25
=a=Chloe Ken
20
g
g 15
o610
=
5
0
11:00 12:00 13:00 14:00
Time

A
I Ny,

f‘l Vi

8b. True or false?

12:30pm was the warmest time during
sports day in 2017 and 2019.

Sports Day Temperature

N W
o o O

Temperature in 'C
—_— - N
(= B4, |

2017 2018

o O»

10am TTam

Day

12pm Tpm

YGD¢ VF

9a. According to the graph, which
statements are correct?

A. On Sunday, the hiker walked quickest
after 2pm.

B. The hiker had walked 5km by 10am on
Saturday.

C. The hiker stopped for a break at 12pm
on Saturday. Hiking Weekend

9b. According to the graph, which
statements are correct?

A. Lisbon and Glasgow both had 5mm of
rain on Wednesday.

B. There was heavy rain in Glasgow on
Friday.

C. Lisbon had four days without rain this
week.

@© Classroom Secrels Limited 2019
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Varied Fluency
Read and Interpret Graphs

Developing
Ta. A

2a. False, it rained from 11am to 5pm.
3a. A is correct.

Expected
4a.Band C

5a. False, Amir won the race.
b6a. B is correct.

Greater Depth
7a. Various answers, for example:

Line graph = weight of a baby measured

on the same day every month for a year.

Bar chart = number of children in class
born on different days of the week.
8a. False as Ken still has 3km to run.
9a. B and C are correct.

Varied Fluency
Read and Interpret Graphs

Developing
1b. A

2b. False, the bean plant grew to 8cm.
3b. B is correct.

Expected
4b. Aand B

5b. True, Donna turns the heating on at
about 10am.
4b. Both statements are correct.

Greater Depth
7b. Various answers, for example:

Line graph = number of people in a shop
throughout the day.

Tally chart = types of vehicles on the car
park.

8b. True

9b. A and C are correct.

o o classroomsecrets.co.uk
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

1a. Carrie is recording the amount of milk
left in the jug in her fridge throughout the

week. Which graph most likely shows her
data? Explain how you know.

A

<

¢ :

1b. Derrik is recording how many Easter
presents his store sells during and after
Easter weekend. Which graph most likely
shows his data? Explain how you know.

A B

A

¢ :

2a. Anton and Lea are interpreting this
graph. Anton says, “It took the family §
hours to walk 10 kilometres.”
Lea says, “The family had a break after
walking for 3 hours.”
Who is correct? Explain.

Family Walk

=o=Wilton Family

Hours
C = N W s O oo

Okm 2km 4km bkm Bkm 10km
Distance

¢

2b. Peter and Nora are interpreting this
graph. Peter says, “Ronald travelled 20
kilometres between 3:00pm and 4:00pm."
Nora says, “Ronald stopped between
3:00pm and 4:00pm.”
Who is correct? Explain.

Bicycle Journey

L
<

- =&=Ronald
o 30
T
£ 20
9
S 10

0

& & & & &
R &R §? R QQQ& o

R ~$ o g8 B 4

3a. Caring Cards Company earns £100
profit for every 100 cards sold. How much
did they profit from Mother's Day cards?
Why did sales drop so quickly on
Monday?

Mother's Day Card Sales

o

——2018

Cards Sold (x100)
oo

o N B o

Friday  Saturday Sunday Monday Tuesday

Days
Ps

3b. Lori is tracking the temperature
throughout the day. She must drink a
bottle of water per hour when it's 24°C or
hotter. How many bottles of water will she
drink?

Temperature

27
Q9 =e=Friday
.E 25
o
524
2 23
e 22
9 21

20

Tlam 12pm Tpm 2pm 3pm

Time
PS
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

4a. The health visitor is recording the
height of twins during their first year.
Which graph most likely shows her data?
Explain how you know.

A

/

v

4b. Jim is recording the temperature from
September to January in London and
Sydney. Which graph most likely shows
his data? Explain how you know.

h"'hv

ey

i

S\
T

5a. Yulia and Naveed are interpreting a
graph. Yulia says, “The blue boat reached
their destination on Day 5.” Naveed says,
“The red boat travelled 100km between
Day é and Day 7."

Who is correct? Explain.

Distance Travelled

120
100
80
&40
40
20

=o—Red Boat Blue Boat

Kilometfres

L -
Y,

5b. Nico and Harriet are interpreting a
graph. Nico says, “Rolph’s journey was
steeper because his line is steeper on the
graph.” Harriet says, “Jana fravelled
much slower; her climb could have been
more difficult.” Who is correct? Explain.

Hill Climb
30
* —lana - Rolph
b 20
G
g 15 -
0 -
K g
; - — g
0 ;

A 2am 10am 1lam 12pm 1pm 2pm 3pm

£ Time
L~

4a. Every Friday, lan and Uma's teacher
gives a sticker for every multiple of 10
pages they read. Who received the most
stickers this week? Who read the most
pages in total? Why did Uma stop reading

on Friday? )
Reading Records

éb. Joyce and Patrick each earn one
point for their class every time they score
more than 15 on a spelling quiz. How
many points will they each earn this half
term? Who has shown improvement?

Spelling Quiz Scores

50 20
lan Uma }B M
0 [ P
= * 14
@ 20 12
ﬁ 10
] 8
4
0 2 - Joyce Patrick
0 0
1 2 3 4 5 & 7
Mon Tues Wed Thurs Fri Sat Sun ; Weak
o Da N
pilg Y s | LA f
CLATSROON -
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Read and Interpret Line Graphs

Read and Interpret Line Graphs

7a. Write your own story to match the
data in the two graphs below.

A B

S~ =

GD,

7b. Write your own story to match the
data in the two graphs below.

A B

/ ™\

=

GD,

8a. Fazir and May are interpreting a
graph.

Fazir says, “The Dragon has a rapid
increase in speed at 3 minutes.”

May says, “The Twister goes the fastest.”
Who is correct? Explain.

Speed of Roller Coaster

_ 140

3 120 —a-The Dragon

Twister

A

’ GD(f Minutes

—
o O
o o

Kilometires per h
oo~
o o

[
o o

8b. Nancy and Quinn are interpreting a
graph.

Nancy says, “Both treks started at 9am.”
Quinn says, “The 2" trek was the longest
by 2km.”

Who is correct? Explain.

Trekking
15

12

i s s )

Kilomefres

—a=1st Trek
2nd Trek

o [#5] o -~
L}

A Fam Tam

GD¢
o Time R

Tpm 3pm

9a. Carl's Cards makes it's biggest profit
in the holiday season. What date is the
shop closed for business? If the shop
earns £200 for every 100 cards sold,
which year made the biggest profit?

Christmas Card Sales

16 2017 2018
8]4
=] 12
» 10
w 8
(]
5 b
v o4
2
0
22nd 24th 26th 28th

Date (December)

PS

9b. Years 5 and é are holding a fundraiser
for charity. For every £1 raised, the school
is giving an extra £2 to the same charity.
How much money did each year group
raise in total?

Fundraising

- y
0 20 =
o 15
=10
o —a=Year 5 Year é
o 5 /

0 '

Ipm 2pm 3pm
Time
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Reasoning and Problem Solving
Read and Interpret Graphs

Developing
1a. B shows her data, because the

amount of milk would decrease
throughout the week.

2a. Anton is correct. The graph does not
show that the family stopped hiking after 3
hours.

3a. They made £2,300 profit on cards.
Sales dropped because Mother's Day
happened on Sunday, and not as many
people needed to buy cards after
Mother's Day.

Expected
4a. A shows her data because the twins

would gain in height but at slightly
different rates. B suggests that the height
of one twin decreases over time.

5a. Yulia is correct because the blue boat
stopped travelling on Day 5. The red boat
travelled 100km in total, not in one day.
éa. lan gets the most stickers. lan read
more pages in total (looking at Saturday
and Sunday). Uma could have finished her
book on Friday.

Greater Depth
7a. Various answers, for example:

A = Two runners travelling the same route
and over the same terrain but one is faster
than the other.

B = The temperature of two cities in the UK
recorded from Summer to Autumn.

8a. Fazir is correct. The Dragon also goes
20km/hour faster than The Twister, so it is
the fastest ride.

9a. The shop is closed on Christmas Day.
The biggest profit was made in 2018
(£12,200).

©® Classroom Secrels Limlted 2019

Reasoning and Problem Solving
Read and Interpret Graphs

Developing
1b. B shows his data, because sales for

Easter related gifts would not continue
increasing after Easter weekend.

2b. Nora is correct. The graph shows that
Ronald did not travel between 3 and 4pm.
3b. She will drink 3 bottles of water (1
between 12pm - 1pm, 1 between 1Tpm -
2pm and 1 between 2pm - 3pm). She may
start another at 3pm as the temperature is
still 24°C at 3pm.

Expected
4b. B shows his data because the

temperature in London will be getting
colder over those months, whilst it will be
getting warmer in Sydney.

5b. Harriet is correct, that is one reason
why Jana travelled a much shorter
distance in the same amount of time. Nico
has misinterpreted what the graph is
showing; the incline of the hike is not
related to the angle of the line.

éb. Joyce will earn 3 points and Patrick
will earn 4 points this half term. Patrick has
shown steady improvement in his quizzes,
while Joyce's scores keep going down.

Greater Depth
7b. Various answers, for example:

A = Two vehicles starting off and travelling
the same distance but at different speeds
before slowing down again.

B = Two plants growing over the same time
period. One plant continues to grow,
whilst the other stops get any taller.

8b. Quinn is correct. The second trek
started at 10am.

9b. Year 5 raised £34 and Year 6 raised
£30. With the school's contribution, Year 5
raised £102 and Year 6 raised £90.

classroomsecrets.co.uk

Reasoning and Problem Solving - Read and Interpret Line Graphs ANSWERS
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Radius

The radius is a line
that runs from the
centire of the circle
to the edge of the
circle.

Diameter

The diameteris a
line that runs from
ane side of the
circle to the other
side, passing the
centre on its way.

These can be drawn in different ways:
P v

Why do these both still show
the radius of the circle?

These can be drawn in differeni ways:

Why do these both still show
thediameter of the circle?

Does this line represent the diameter of the circle? Why/ why noie

If we know the radius, we can calculate the diameter by

If we know the diameter, we can calculate the radius by 9
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Work out the diameter of each circle:

! Radius x 2 = Diameter I

Why can you always double
the radius to work autthe
diameter? When might it go
Wrongr

Work out the diameter of each circle:

! Diameter + 2 = Radius l

Abicyclo wheal has a diamoter of G4em.

What is the radius of tha bioycle whaal?

[

Why can you always half the
diameter towark out the
radius? When might it go

wrong?




Properties of circles!

Using the circles on the table, find the radius, diameter and circumference.

Circles

Radius

Diameter

Circumference

What do you notice about the radius and the diameter?

So if a circle has a radius of 20cm, what is the diameter?

So if a circle has a diameter of 56cm, what is the radius?

if a tiny circle has a radius of 0.243cm, what is the diameter?




@

Cut out your circles

fold in half

Fold in half again

You now have the centre point




iF The pie chart shows the colours of 32 beads.

Red
Pink Green
.
Blue White

How many green beads are there?

(1)
(a) What is the most common colour of car in the car park?
(1)
(b) What is the least common colour of car park?
M
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The pie chart shows information about the hair colour of the students in a class.

Blonde

E Brown

Red

Black

A student from the class is chosen at random.
(a) Mark, with the letter, the probabilities of each of the following on the scale
below.
The first one has been done for you.
A: The student has brown hair.

B: The student has blonde hair.
C: The student has green hair.

A

I

}..__.v_.__,_w S __+ e erer————— ,} n_..,.MAm.i..‘..“_..__..n.__.MMM,&_ME

(2)

There are 24 students in the class

(b) How many students have blonde hair?

© Corbettmaths 2015



A bag contains red, white and black counters.

The pie chart shows information about the counters in the bag.

White Red
1 120°

Black

(a) What fraction of the counters are white?
Give your answer in its simplest form.

.........................

(2)
(b) What fraction of the counters are red?
Give your answer in its simplest form.
(2)
There are 24 counters in the bag.
(c) Work out how many counters are black.
2

© Corbettmaths 2015



8. A group of rugby fans were asked who they supported.

Ireland

France

45°

Use the pie chart to complete the table.

Scotland

The pie chart and table show information about who they support.

Team Angle of sector | Number of fans
England 120°
Scotland

Wales 45”

France 45°

Ireland 90° 12

© Corbettmaths 2015




A youth club has two rugby teams, Under 13's and Under 15’s.

The pie charts show information about the number of games each team won and
lost, last season.

Under 13's Under 15's
Won Won
i 120°
Lost Lost

The Under 13's played 28 matches.
The Under 15's played 18 matches.

Which team won more matches?
Show your workings.

..............................

© Corbettmaths 2015



The pie chart shows types of properties in a street with 80 properties.

Semi-detached

Detached
30%

20%
Apartment

(a) Work out the percentage of properties that are semi-detached.

(b) Work out the number of semi-detached properties.

© Corbettmaths 2015



The pie chart shows the flavours of ice cream sold by a shop in one day.
There were a total of 270 ice creams sold.

Vanilla

Chocolate

(a) Calculate the number of vanilla flavoured ice creams sold.

..............................

(2
(b) Calculate the number of mint flavoured ice creams sold.

(2)
(c) Calculate the number of strawberry flavoured ice creams sold

(2)

© Corbettmaths 2015



The pie chart shows information about how Mr.Jenkins spent his salary for July.

iegll ©
‘z
},'
/

Savings
17%

i

Rent and bills
45%

Other
27 %

He was paid £2000 in July.

Work out how much Mr.Jenkins spent on rent and bills.

© Corbettmaths 2015



The pie chart shows the holiday destinations of 60 people.

Ttaly France
90° K 138°
60°
e
Portugal
Spain

Draw a bar chart to represent this information.

4

© Corbettmaths 2015



The pie chart shows information about the languages studied in a school.
There are 648 students in the school.
Each student studies one language.

Chinese/,.-- -

A15°| )
- - 80° | German

LY Spanish

How many more students study Chinese than French?

.........................

© Corbettmaths 2015



12.  The pie charts show information about the results of chess matches that two
c= _ players have played in over the course of a year.

&

LIaN

Andre Pete

Andre drew 5 matches.

(a) How many matches did Andre win?

Edward says “the pie charts show that Pete won more matches than Andre.”

(b) Is Edward correct?
You must explain your answer.

.........................................................................................................................
.........................................................................................................................
.........................................................................................................................

© Corbettmaths 2015
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Pie Charts «whatisy

U

e R

My Results

Strawberry Cream 5 100°
 Strawberry cream
Orange Cream 3 60° Orangecream
W Purple hazelnut
# Greentriangle
Purple Hazelnut 6 120° Toee
360
Green Triangle 2 40° = 20°
360° 18
o
Other 2 ‘j(/?—‘({. 40"
TOTAL 18

T ]

Strawberry Cream

Orange Cream 3
Purple Hazelnut 6
Green Triangle 2
Toffee Crunch 2
TOTAL 18 360°

In a survey, people were asked to indicate which one of the pies they liked the
best. The information is given in the table.Display the information in a pie chart.

Apple 15[=8) 90°
Pork 1268 72°
Banoffee ﬁ| 66°

Chocolale | 18 B} 108°
Sleak and kidney II?_FII 24°
TOTAL=  60[¥B) 360°

1) In a survey, people were asked to indicate which one of the subjects they liked
the best. The informationis given in the table.Display the information in a pie chart.

Maths
English
Sclence

Languages et

Other § [ 50°

TOTAL= 3610 360°

2) In a survey, people were asked to indicale their favourite pet. The informationis
givenin the table. Display the information in a pie chart.

11| 100

Dog 12[0] 120°
Fish 4| 80°
Hamster 1@] 30°
Rabbit 2[5 20°

TOTAL =

3) In a survey, people were asked to indicate their favourite food. The information
is given in the table. Display the informationin a pie chart.

Cereal 1 @8] 99°
Toast T2
Frui [ 54
Cooked 81°
Olher ¥ 54

ToTAL=  40[x9] 360°




18/06/2020

4) The table below shows the number of goals scored by an ice hockey team.
Display the information in a pie chart.

0
1
2

3
4 or more
TOTAL=

In a survey, people were asked to indicate which ice cream their liked the best.
The information is given in the table.Display the information in a pie chart.

Vanila i %‘Eor350=63°

Minl 9 % 0f360=40.5°
Choclle | 21 |2-of3so=04.5°
Simbery | 1) |ior3s0=855°
Orenge fl |i-0f380=76.6°

TOTAL= 80 360°

1) The table shows the record of traffic travelling down a road in Cleckheaton.
Display the informalion in a pie chart.

Leave until end

Cars W | Hof3so=187°
Molorbikes 1 |Boraso=93°

Vans 55 ;—fooi:ssoﬂs“

Buses 5 | Zof3e0=7°

TOTAL= 270 360°

2) In a survey, people were asked to name their favourite food. This is shown in
the table below. Display the informationin a pie chart.

| Bed 2 |Zofse0=82.5°

Chicken #  |%Soraso=172.5°
Pork W |% of360=67.5°
Horse 1 |Loraso=37.5°

TOTAL= 96  360°

3) In a survey, people were asked to name their favourite music. This is shown in
the table below. Display the information in a pie chart.

Pop M |i2orsco=144°

14 - °
Rock & Rol 4 |{ora60=50.4
Heawy Meld § |mgof360=21.6°
¥ 2 A °
Classical ? 1000f360=7.2
R&B B | Lor3s0=136.8°

100
TOTAL= 100 360°

4) In a survey, people were asked to name their favourite make of TV. This is
shown in the table below. Display the information in a pie chart.

230f260=106.8°

Sony 5§ | 22of360=67.2°
16 5§ |smof360=63.6°
Panasonic B |Z:ot360=93.6°
Toshiba MU | 2orac0=28.8°

TOTAL= 300 360°




The table gives information about the holiday destination of 18 students in a class.

1.
=
~ Country Frequency
hmwFranc; . S 3m S SE—
Wales 4
England 11

Draw an accurate pie chart to show this information.

o —— _‘_"‘ﬁ--\
—

\

N

-——hb__‘___’-_,—/-‘—f

(4)



2. The table gives information about the dogs in a village

Gl

|
|
|
|

Breed Frequency

Spaniel | M
Poodle ¥
Greyhound | 4
Jééiihusséii"?"“ 14

Draw an accurate pie chart to show this information.

—
e

——

.
\\

(4)



3. The table gives information about students staying after school to play sport.

ﬁ

Sport Frequency
Netbail 4 e

Hockey i 10 f

Football 9

Draw an accurate pie chart to show this information.

P

~ ~

(4)



4. The table gives information about the number of students in years 7 to 10.

i g i

Year - Frequency |
8 | 140
9 220
10 | 160

Draw an accurate pie chart to show this information.

(4)



5.  Nigel sells bottles of drinks.

? The table shows the percentage of drinks sold on a day.

Dk | Percentage |
r—a 10% i |
~ Water 50%
Lémonadg 40%

Draw an accurate pie chart to show this information.

(4)



6. How Katie allocates her wages is shown in the table below.

i Percentage | Angle in a pie chart
- Rent 25%
' Other spending 45%
§ —— — __T_u..w_ ittt SIS TT———

. Savings

. SRS,

(a) Complete the table.

3)

(b) Draw an accurate pie chart to show this information.

4



The table gives information about the meals ordered on a Sunday.

Meal Frequency

Beef 9

oo - ;
- "W{/'ééét'émr'i‘;;{m —

Draw an accurate pie chart to show this information.

(4)



Pie Chgels WerlkSheet

Draw pie charts for each set of data below

Crisp Sales
Plain 46
Chicken 16

Salt & Vinegar | 22

Cheese & Onion | 26

Smokey Bacon | 34

Total 144

Ice-cream Sales

Vanilla 13
Banana 22

L .
Chocolate 28

Strawberry 57

Total 120

Favourite Sport

Rugby 75

Football 90

Cricket 45

Ice Hockey 60 .
Squash 30

Total




Pie Charts

Favourite Number of Angle

Footballer people

Owen 6

Giggs 4

Ferdinand 7

Fowler 2

Beckham 5

Total

Favourite Sport | Number of Angle
people

Football 25

Netball 15

Tennis 30

Hockey 20

Total

Favourite Food | Number of Angle
people

Chips 21

Crisps 15

Cake 6

Chocolate 14

Lettuce 4

Total

Favourite Pet Number of Angle
people

Dog 21

Cat 18

Fish 4

Rabbit 2

Total




Least liked Number of Angle (to the
sport people nearest degree)
Football 86

Netball 45

Tennis 30

Hockey 39

Least liked Number of Angle {to the
music people nearest degree)
Rock 21

lazz 43

Blues 34

Pop 2

Least liked Number of Angle {to the
colour people nearest degree)
Blue 137

Green 64

Red 23

Yellow 205

Purple 3

Least liked car | Number of Angle (to the
people nearest degree)

Porshe 8

Mini 13

Mondeo 13

Skoda 35

Lotus 1

SEEE
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Mean — Problem Solving

The temperature for UK on a holiday website is found by taking the mean average from 8
different parts of the country. What should they put up if the temperature in the 8 locations
are: 129C 18°%C 9%C 12°C 15°C 20°C 21°C 13°C

8 friends are going on holiday and it works out to be £120 each. 1 of them is the birthday
boy so his friends decide to cover his cost. How much do all 5 friends need to pay each now?

4 people have the following number of counters: 4, 6, 3, 7. If we were to share the counters
equally between them, how many would they get each?

Tickets to the cinema cost £6 each. 5 Friends go and they have the following amounts of
money each; £3 £8 £6 £4 £3 Do they have enough money between them to go to the
cinema? (Show your working)

The average (arithmetic mean) of a list of 6 numbers is 20. If we remove one of the nhumbers,
the average of the remaining numbers is 15. What is the number that was removed?

The mean weight of a group of seven boys is 56 kg. The individual weights {in kg) of six of
them are 52, 57, 55, 60, 59 and 55. Find the weight of the seventh boy.

A cricketer has a mean score of 58 runs in nine innings. Find out how many runs are to be
scored by him in the tenth innings to raise the mean score to 61.

The mean of five numbers is 28. If one of the numbers is excluded, the mean gets reduced
by 2. Find the excluded number.

The mean weight of a class of 35 students is 45 kg. If the weight of the teacher be included,
the mean weight increases by 500 g. Find the weight of the teacher.




Major Extension

1. Mr. Myones drives 3 hours at an average speed of 40 miles per hour. Then he drives 2 hours at a
speed of 35 miles per hour. What is his average speed for the whole trip?

2, Miss Holton drives 4 hours at an average speed of 30 miles per hour. Then she drives 2 hours at a
speed of 45 miles per hour. What is her average speed for the whole trip?

3. A family took 2 hours to drive from City A to City B at a speed of 55 miles per hour. On the way
home they took 3 hours at a speed of 40 miles per hour. What was their average speed for the
whole trip?




L.O —To use a protractor to measure angles

Tip: Make sure you line up the cross of the protractor with the corner of the angle.

Challenge: Write whether each angle is an obtuse, acute or right angle. Then use a protractor to
measure each angle.

e /\D\{E<

Now can you use the protractor to draw angles of the following degrees?

1) 45°

2) 120°

3) 20°
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